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Find the trigonometric ratio from the following figure.
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Find the following values from the table of trigonometric ratios.
Rz b A E D
f5il /E I
A sin A cos A tan A A sin A cos A tan A
51 0.09| 1.00| 0.09 10" | 0.17] 0.99| 0.18
15| 0.26] 0.97| 0.27 20° | 0.34| 0.94| 0.36
25| 0.42] 0.91| 0.47 30" | 0.50| 0.87| 0.58
35" 0.57| 0.82| 0.70 40" | 0.64| 0.77| 0.84
45| 0.71] 0.71] 1.00 45" | 0.71] 0.71| 1.00
(1) sin 15° = 0.26 (1) sin 20°
(2) cos 25° = 0.9/ (2) cos 30°
(B)tan 35" = (.70 (3) tan 40

BH LI b

ek4
/)

3. WG A e e S,

fi il

WEHN A0mOBY A |WERS 3.0m oWy A
Bibn, WEEWERO Kb, W L #ERO
RN 2 DL x, WODL [FER0 OLX, BYE

73?: HL
DEE x &Rk X,

x =4 X sin 25

=4 X042

=7.68

=7.7 (m)

There is a slide with a sliding surface
of 4.0 m. Find the height x when the
angle between the ground and the
sliding surface is 25°.

73?: HL
DEE xHRD X,

=

koﬂ

STHE756 80m %’Eﬁ’bt,ﬁf

AT (=g

Jeu AW A & 35 TL =,

Lo

HhnEs xakd k.

Th

tan 35 = 20

x —§0 X tan 35

=4§0 X070

I measured the tip of the lighthouse
at a point 80 m away from the light-
house and it was 35 degrees.
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Find the height x of the lighthouse.
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smA—% cosA—% tanA—% o
bA F sin 30 = 3
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x =3 Xsin 30°
C T A
sinA =—— cosA = —— tan A = —— =3 X056
o v B
FEe A = /.5 (m)
be, -
C 3 B A 2 C There is a slide with a sliding surface
3 2 3 of 3.0 m. Find the height x when the
nmA=—"— A= —"— t A =— angle between the ground and the
s V73 €08 V73 an 2 sliding surface is 30°.
o 5N To 9 ;3]
e A KT 470 560 m ML 5T |BREE 70 & 50 m Bl T
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ﬁm %Jﬁ%{ﬁlék 30 fu‘_o %iﬁﬁfziﬁlék 40°TL7‘_0
Lo En 7= To&H -
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% tan 30" = 0.58 & T %, X tan 40 = 0.84 & T 5,
sinA =—— COSA =—— tan A = ———
v
B E® C B
NG
B A A C
3 5
s1nA—L cosA—i tanA:L_
3 3 V5
o X
'é)/ut‘ﬁ tan 30 60
HEe |
1 3 :
60’ 30 x = 60 Xtan 30
B 9 A
e ] A ]
= 60 X0s5¢
sin30  =——  ¢c0s30 =——  tan30 =— = 34.¢
(sin A) (cos A) (tan A)
= 35 (m)
sin60  =—— ¢c0s 60 =—— tan 60 = —
(sin B) (cos B) (tan B) I measured the tip of the lighthouse
at a point 60 m away from the light-
house and it was 30 degrees.
Find the height x of the lighthouse.




Sh < Y noEn

§%| ROHA g

[

E( BB

ek4 AN Shn< O

1. ROXE D= ﬁw%*wﬁém

T TV~
= B =
sin A = Wi , cCosA = ii‘} , tanA = :é
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A 12 C A 1 C
sin A = o sinA = ——
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/2
A=—— A=—
cos 73 cos
tan A o tan A = —
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g
A - 2/ /3
\/5 A 1]
1
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sin 30 *T sin 60" = ——
cos 30" = Tg cos 60" = —
tan 30 *4 tan 40 = —
V3
Eh LD 1) »iz HL
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nnrEn bAED
151 RH 1) BH
A sin A cos A tan A A sin A cos A tan A
10| 0.17| 0.98 0.18(| |45 | 0.71| 0.71 1.00
20°| 0.34| 0.93 0.36 50| 0.77| 0.34 1.19
30°| 0.50| 0.87 0.58(|[60° | 0.87| 0.50 1.73
40" | 0.64| 0.77 0.84 70" | 0.93| 0.34 2.74
45| 0.71] 0.71 1.00 80" | 0.98]| 0.17 5.67
(1) sin 200 = 0.34 (1) sin 50°
(2)cos 300 = 0.87 (2) cos 70°
(3)tan 40" = (0.¢54 (3) tan 80°
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x =4 Xsin 70

=4 X093 =3.72
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=4.72= 4.7 (m)

There is a barrier with a 4.0m long
bar. Find the height of the tip of the
bar when it reaches 70 degrees. The
bar is installed at a height of 1.0m
above the ground.
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tan 50" =

x —§0 Xtan 50

=80 X779

=95.2= 95 (m)

The tip of the tower measured 80 m
away from the chimney was 50°.
Find the height x of the tower.
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sin A = 2 cos A = 2 tan A = 5
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sin 60" = —— cos 600 ———  tan 60" — ——
(sin A) (cos A) (tan A)
sin 30" = — cos 300 —=——  tan 30 = —
(sin B) (cos B) (tan B)
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sin 30" =

x = 6 Xsin 30

6 X 05

3+0 (m)

There is a slide with a sliding surface
of 6.0 m. Find the height x when the
angle between the ground and the
sliding surface is 30°.
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% tan 60" =173 £ T 5,

t T =
an 60 30

x — 30 X tan 60

=30 X773

=579

52 (m)

I measured the tip of the lighthouse
at a point 30 m away from the light-
house and it was 60 degrees.

Find the height x of the lighthouse.
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x
5

sin 75" =

x = 5 Xsin 75

= 5x0.96 = 4.8
4.8 + 1.0 = 5.9
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sin 75" = 0.96 . cos 75" = 0.25
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sin 60" = 0.87 cos 60" = 0.50

x
100

cos 50" =

x = 100 X cos 50°
= 100 x 0.64 = 64
64 X 2 = 128
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sin 50" = 0.77 cos 50" = 0.64
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sin 55" = 0.82 cos 55" = 0.57
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X
80

tan 40" =

x = 80 xtan 40°

= 80 x0.84 = 67.2

67.2 + 1.4 = 68.6 = 69
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sin 30" = 0.50 cos 30 = 0.87

. x
cos 30 = B
x = 2Xcos 30

= 2x0.87 = 1.74
2.3 — 1.74 = 0.56 = 0.6
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sin 40" = 0.64 cos 40 = 0.77
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sin 70" = 0.94 , cos 70 = 0.34

x
9

sin 70" =

x = 9 Xsin 70

= 9x0.94 = 8.46

8.46 + 2.0 = 10.46 = 10.5
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sin 70" = 0.94 , cos 70" = 0.34
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sin 50° = 0.77, cos 50" = 0.64
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cos 50 = )

x = 90 X cos 50°

= 90 X 0.64 = 57.6
57.6 x 2 = 115.2 = 115
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sin 40° = 0.64 , cos 40" = 0.77
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tan 60" = 1.73 T %,
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tan 60" =

x = 20X tan 60°

= 20 x1.73 = 34.6
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sin 40 = 0.64 cos 40 = 0.77 ./
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cos 40" = 3

x = 3 X cos 40

= 3 x0.77 = 2.31
3.3 —231=0.99 =1
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sin 30" = 0.50 cos 30" = 0.87
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A sinA | cosA | tan A
64° | 0.899 | 0.438 | 2.05
65° | 0.906 | 0.422 | 2.14
66° | 0.914 | 0.407 | 2.25
67° | 0.920 | 0.391 | 2.36
68° | 0.927 | 0.375 | 2.48
69° | 0.934 | 0.358 | 2.61
70° | 0.940 | 0.342 | 2.75
71° | 0.946 | 0.326 | 2.90
72° | 0.951 | 0.309 | 3.08
73° | 0.956 | 0.292 | 3.27

0.65

cos A = =0325 &thHh A=T1T1°
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tan 76° = ch, %

x = 3 X tan 76° = 3 x 4.01 = 12.03

12.03 — 1.5 = 10.53 = 10.5 76°
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EDRIEN 1.0m 1o/ o7, XL = & Mo 7T

R X, A | sinA | cosA | tanA
74° | 0.961 | 0.276 3.48
76° | 0.970 | 0.242 4.01
78° | 0.978 | 0.208 4.70
80° | 0.985 | 0.174 5.67
82° | 0.990 | 0.134 7.11
84° | 0.995 | 0.105 9.51
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A tan A A tan A
1° | 0.018 6° | 0.105
tan A = 0.10 £ v 2° | 0.035 7° | 0.123
e e 3° | 0.052 8° | 0.141
£ 135 6° 4° | 0.070 9° | 0.156
5° | 0.088 10° | 0.176
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x
30

tan 20° =

x = 30 X tan 20° = 30 X 0.364 = 10.92

10.92 + 1.5 = 12,42 = 12.4
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A tan A A tan A
11°| 0.194 16°| 0.287
12°| 0.212 17°| 0.306
13°| 0.231 18°| 0.324
14°| 0.249 19°| 0.344
15°| 0.268 20°| 0.364
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